[image: image1.jpg]Divisible by 3 Divisible by 5

1247811131416 17192223 26
28 29 313234 37 38 4143 44 46 47 49




Extra Practice 2

	Lección 1.2: Más Patrones De División
1.
¿Cuáles números son divisibles por 0? Por 6? Por 9? 
¿Cómo sabes?

a)
92
b)
114
c)
216


d)
420
e)
636
f)
675


g)
1026
h)
1252
i)
1278


2.
Dibuja un Venn diagram con 2 círculos. 
Nombra un círculo “Divisible por 3” y el otro “Divisible por 5.” 
Coloca los números del 1 á 50 en el círculo o círculos correctos.
¿Qué se puede decir de todos los números que se encuentra en la región que tienen en común ambos círculos?

 3.
Usa las reglas de divisibilidad para encontrar los factores de 132.
¿Cómo te puedes asegurar de haber encontrado todos los factores?

4.
Escribe 3 números de 4 cifras que son divisibled por 9.
¿Por qué escogiste éstis números?

5.
¿Cuáles de los siguientes números divide á 324 592?

a)
2
b)
3
c)
4


d) 5
e)
6
f)
8


g) 9
h)
10
i)
0


6.
Supongamos que tienes 60 barras de granola.
Debes compartir las barras, de igual manera, con todos las personas en el bus escolar. Determina la cantidad de barras que, en cada caso, recibe cada persona. 
a) Hay 30 personas en el bus.
b) Hay 15 personas en el bus
c) Hay 12 personas en el bus
d) No hay nadie en el bus.
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1.
None of the numbers are divisible by 0 because no number can be divided by 0.


To be divisible by 6, the number must be divisible by 2 and by 3. So, it must be an even number, and the sum of its digits must be a multiple of 3.
The numbers divisible by 6 are 114, 216, 420, 636, 1026, and 1278.


To be divisible by 9, the sum of the digits must be a multiple of 9.
So, the numbers divisible by 9 are 216, 675, 1026, and 1278.
2.


The numbers in the region where the loops overlap are multiples of 15.
3.
132 is divisible by 1 and itself.
132 is even so it is divisible by 2.
132 ÷ 2 = 66
The sum of the digits of 132 is 6, so 132 is divisible by 3 but not by 9. 
132 ÷ 3 = 44
132 is divisible by 4 because 32 is a multiple of 4. 
132 ÷ 4 = 33
132 is divisible by 2 and by 3, so it is also divisible by 6. 
132 ÷ 6 = 22
Looking at the quotients, I can see that 132 is divisible by 11. 
132 ÷ 11 = 12
The factors of 132 are 1, 2, 3, 4, 6, 11, 12, 22, 33, 44, 66, 132.

4.
3717, 1134, and 9999; I wrote 4 digits each time so that the sum of the digits was a multiple of 9.

5.
a) Yes, 324 592 is even.

b) No, the sum of the digits is not divisible by 3.

c) Yes, the number represented by the last 2 digits is divisible by 4.

d) No, the ones digit is not 0 or 5.

e) No, the number is not divisible by 3.

f) Yes, the number represented by the last 3 digits is divisible by 8.

g) No, the sum of the digits is not a multiple of 9.

h) No, the ones digit is not 0.

i) No, no number is divisible by 0.

6.
a) 2 granola bars

b) 4 granola bars

c) 5 granola bars

d) I cannot share granola bars equally among no one.
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